453411 B 08H (BER)

R RENFEHIS (A15) 2B B #H

B ENSTHBE: 2085 b+
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
130100 |[7ZLNC A # 33,105
F= 1,600 1,000 600 10 864 842 1,080 1,026
alll 10,765 880 9,885 11 1,080 756 972 486
EE 4,370 20 4,350 10 756 864 162
EE 4,000 0 4,000 10 756 540
RI& 11,650 5,870 5,780 12 1,080 432 1,080 324
130340 [;£ICALA ¥ 17,050
dtiEE 11,900 700 11,200 10 1,728 864 1,858 540
FIE 5,100 0 5,100 10 1,728 864
130400 [Z (S5 3 990
LS 700 0 700 10 - - - 1,566
E351 130 0 130 10 1,512
fE 140 0 140 10 1,004
130600 [NACA a3 2,583
il Ll 165 0 165 5 2,592 972
®me 2,030 160 1,870 5 3. 564 3. 456 3,996 972
131100 [ 3¢ % 35,522
I 26,120 1,860 24,260 15 1,296 864 2,041 432
£ 6,080 3,440 2,640 10 756
EE 7 7 of o6 81
il Ll 555 0 555 15 1,296 972
BRE 2,760 0 2,760 15 756 540
131700 |Fr Y % 33,767
E351 7,470 3,420 4,050 10 1,037 724 1,188 864
HE 5,175 0 5,175 15 1,210
a4 3,000 450 2,550 10 778 508 1,080 324
50 14,030 2,620 11,410 10 1,026 216 1,188 648
EE 4,092 1,920 2,172 12 972 756 1,188 648
131800 |[[(F5hAE % 2,157
Ik B 1,116 4 1112 3.6 Z. 808 3,370 1,750
£E 452 296 156 0.2 151 83 141 65
=i 428 0 428 0.18 119
131910 [FH=F % 2,310
N 46 0 46 0.5 702 302
£E 35 3 33] 05 302 302 270




453411 B 08H (BER)

R RENFEHIS (A15) 2B B #H

Frx EISEHA%E: 2085 b+
(gL HEREFST)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)
it Ll 225 0 225 1 1,080 324
=l 1,039 0 1,039 10 3,132 2,430
FZIE 875 125 750 5 3,780 Z, 700 4,320 1,080
=il 10 0 10 1 432
131950 |4 = ¥ 8,672
dtiEE 3,250 1,475 1,775 5 1, 620 1, 458 1,620 540
B 1,660 418 1,242 3 1,404 1,080 1,404 572
133400 [L B R a3 315
Ik 315 135 180 4.5 756 1,404 1,080
134100 [#A)1 3 15,533
Lz 535 125 410 5 1,242
HE 1,490 1,085 405 5 1,490 1,296 1,210 702
EE 148 58 90 10 1,944 1,836
=l 890 160 730 5 1,296 1,026 1,998 594
iR 3,220 635 2,585 5 1,620 1,026 1,922 1,080
=40 955 700 255 5 1,728 1,188 1,404 1,026
= 1% 6,900 1,430 5,470 5 1, 836 1,134 1,890 864
134200 |E R 3 3,170
dtiEE 930 0 930 10 1,944 1,490
—1—ALR=7 2,240 0 2,240 10 - - - 1,620 1,458
134300 |t F sk 6,331
=B 60 55 5 5 1,620 1,512 1,944
32 1,315 100 1,215 2 1,296 1,080 1,350 648
=40 3,934 778 3156] 0.3 124 103 124 97
& 745 54 692 03 162 184 119
e 277 0 277 4 1,836 1,512
134400 |F<+ % 5,325
F= 1,536 240 1,296 4 1,404 1,188 1,944 864
REAR 3,752 180 3,572 [] Z, 484 Z, 160 2,592 540
134500 [E—<> 3 6,950
= 540 45 495 0.15 65 86 54
= I 2,868 1,597 1,271 0.13 63 54 56 54
135100 [LNAIF A % 198
EE 0 of o1 140
Faxl 70 10 60 /] Z,592 2,160 648
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PR REFETS (KI5) BEB#HK
S#34E11 B 0sE (AER)

Frx EISEHA%E: 2085 b+
(ERISHERESD)
fnfh fnfh EEHh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)

EE 62 0 62 2 3,024 1,188

=il 20 0 20 2 2,808

REAR 6 2 4 2 3,024 2,592

BRE 40 0 40 2 2,376 2,160
135200 |3 = ¥ 54

L 54 10 44 Z 3. 240 1,296 3,564 1,296
136100 [MAL & ¥ 14,850

BE 5,855 620 5,235 5 2. 484 1.512 2,376 864

= % 1,215 260 955 5 1,242 1,080 1,620 756
136200 [ E#5Z 3 7,000

itiEE 7,000 1,250 5,750 10 Z 160 1,728 1,998 1,512
136210 [A—2 1> 3 1,500

dtiEE 1,500 100 1,400 10 3132 3,564 1,944
136300 B ¥ 3 3,150

FZIE 3,050 200 2,850 10 3. 024 1,620 3,240 1,598

BE 100 0 100 10 1,728
136600 |f=F1a= % 2,820

dtiEE 350 0 350 10 3,240 1,188

EE 2,470 2,470 0 10 Z.316 1,242
138100 [ LU =(F “ 2,873

£E 205 40 165 0.1 140 97 124 81

BE 1,841 65 1,776 0.1 130 194 54
138500 |L&HLE ¥ 2,281

K% 2,233 494 1,739 0.2 81 67 84 65
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453411 B 08H (BER)

R RENFEHIS (A15) 2B B #H

= EISEiAsE: 484 k
(gL HEREFST)
fnfh fnfh EEh ENFE = (ke) iR b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
240400 [ R4 BN A MDA # 27,803
L 12,050 5,090 6,955 10 3,564 1,296 4,104 1,080
F 3,141 1,311 1,830 10 2,700 1,404 2,700 1,404
g 12,612 11,037 1,510 10 3. 780 648 3,780 2,700
241470 |ZEADA ¥ 56
= 15 56 53 4 0.25 378 356 356
242320 (33 —ILk % 1,150
F 1,150 0 1,150 10 - - - 3,780
242830 [ S\CYAC ¥ 8,067
F 7,374 5,460 1,914 20 6. 264 3,780
£ 693 693 0 3 702
243610 |[EAME 3 5,208
=B 5,208 4,458 750 10 4, 536 432 3,240 1,944
243700 [L 5 a3 3,640
=g 1,330 1,330 0 10 1,728 648
®me 1,110 1,110 0 10 1,944 540
243740 |[EEME % 1,580
®me 1,580 1,580 0 10 Z 484 1. 080
243770 |FASEME % 120
g LU 120 0 120 0.5 - - - 162 140
245230 [BIESRES ¥ 140
K% 140 67 74 0.35 670 567 648
246000 (V6T ¥ 247
E 42 0 42( 025 972 756
& 205 120 85| 0.25 1,080 648 702 540
247100 |[7—JLR A a3 417
E4 il 289 119 170 8.5 13. 500 1. 344 16,200 7,560
=il 128 128 of 85 5,184 3,240




SFI34ELL A 08H (HHER)

F A R RS T S (AE5) BHE H

R EIbng e = 9.5 %
(S I E B B )
4, . EN7EH (kg o wh5E RIS
2 4 — — filik HLAL - — — — —
AH wY5E RIS FEM AR ()| ZefiE(M) PEH EAE(D) | () | ZefE(M)
101 | RERT=\ 402 268 134 Kg | 1,944 216] e 3,240 324
102 |FHEI-) 2,261 2,261 Kg B+ 2 2,927 417
111 | ED 627 53 574 Kg |&fE 410 302| @ Jn - &)1 1,512 216
113 [RZROHD 17 2 15 Kg [#EE 3,024 frJE 3,024 1,296
114 |5 -H 130 130 Kg R - 2,484 1,728
115 [HWi- 78 6 72| Kg [fmjE 2,484 864 [t 2,700 720
117 [i3% 71 25 46]  Kg  [FmiE 972 411 S 3,622 486
121 [7bixE 116 86 30 Kg [#EE 1,728 432[ e 1,836 1,080
134 |7=Z 380 134 246 Kg [Ek 3,000 1,296 )1 2,700 540
137 |[mHES< 146 35 111 Kg [|EIR 3,564 2,376 3,672 3,348
140 |DIT 12 12 Kg Aty 48,960 25,200
147 [HEx O 105 105 Kg | 4,320 FW - K5y 8,640 4,000
158 [N AED 876 49 827 Kg [fE&E 864 302 |5t 1,350 540
201 |Vl 300 300 Kg = 200
203 [T 40 40 Kg —H 405 324
206 |1 458 458 Kg HEE[E] 1,392 314
207 |SAE 224 224 Kg AbyiE 3,240 270
208 |0k 284 284 Kg gy 1,674 346
209 |[IHH000 75 75 Kg AR 1,080 972
210 [iFAve 76 76 Kg [ILA 5,670 1,350
212 |FHESD 572 572 Kg AR 2,214 1,080
222 |[OBZ 357 357 Kg = 288 162
251 |[KAESA 305 305 Kg gy 3,078 2,646
252 |WAEESA 71 71 Kg  |&h] 2,279
254 [EDIEFESTAH 206 206 Kg FE T 1,166 432
303 [FLAZi2wn 30 3 27 Keg A 120 Al 576 432
305 [Flemok 3 3 Kg )11 3,240 3,024
306 [WEXD 38 17 21 Kg [|EIR 611 446 | E¥F 648 168
315 |7=H98 97 55 42 Kg |[=IF 1,784 1,710] &y 1,836
319 |&b5 191 23 168 Kg [SiR 378 frJE 1,404 266
332 | EA BPE 364 364 Kg E|RES 1,566 1,242
351 [AEH 10 10 Kg HEE[E] 3,888 3,672
354 [1xFESD 32 32 Kg Hh[E 1,134 918
355 |H3Y 170 170  Kg REA « 501 1,188 500
356 [LUA 65 65 Kg FSEL 1,080 972
357 |RHE 70 70 Kg HEE[E] 1,728 608
358 [KH 15 15 Kg R 2,160 1,404
362 [7x 229 4 225 Kg |IRE 1,566 1,512 =) 3,240 648
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PO T FR YL ISR T (AN Y) B H
SF34E11 A 08H (HWEH)

R EIbng e = 0.5 %
(S I E B B )
A e EN7EH (kg e B H05E RIS
- []s] A

Z—R AH H05E RIS PEH EAEFD | FP ()] Z2fiE () PE M EAEF) | FAEE) | ZEE)
512 | M 54 54 Kg E[REE 850 648
523 | BT 2O 42 42 Kg i 3,078 1,055
524 |mETeE 2 Y 14 14 Kg EEDA 1,636 1,404
558 |FRfa 10 10 Kg Jbre 702

560 |WiE7-Z 386 386 Kg BRIl 2,450 1,030




SFI34ELL A 08H (HHER)

F A R RS T S (AE5) BHE H

T EIbng e = 2.9 %
(S I E B B )

0 Fe sk H05E EFS
:Stﬁ* 5 izl iﬁl (kg) _ e B \ _ 7 _ j TS| _

AH H05E RIS FEM e ED | HE ()| Z2 i) PEH EAE(ED) | FED | ZE)
701 |[BVDHA 2,083 936 1,147 Kg | 1,598 702 | fe )i 1,350 186
704 [WbLET 24 24 Kg Koy 1,080
709 [WbLRF 29 29 Keg [X% 475
710 |95 HIF 10 10 Kg Koy 702
755  [BEHL 55 14 41 Kg [K% 108 HEE[E] 679 626
761 [BodAEE 72 6 66 Kg |&fE 1,512 1,435| fe & - Fsfk (L 2,484 750
763 |[EINIC 64 64 Kg |&fE 7,112 4,371
801 [HEfALEIF 208 208 Kg E|RES 1,500 896
802 |HE1F 100 100 Kg JbifEE 972
805 [HXIT 158 158 Kg byE- T3 821 351
815 |—WaAE 131 131 Kg Aty 1,123 648




